Annual Report_Mining_MS86100_2071_1902_3 of 4_366.tif




# ,.
% o {S)« \K.i.,-—l' g

-

HARQUETTE & SOUTHRASTERN ﬁHT.WAY COMPANY,,

{

Inverntory of Marquetta & Seutheastern Ry.materiel taken Nov,30th 1802
»

1273 Tons 40# Raill

7400 Sets Aplices and meltsm .40 27199,40
23502 Tie Plates = per hundred Plutes 4'% S8e3, 00
1397=-860 tons 80# Radl 20 55 102628 -
4209 prs. 80# angle bhar " 41292, 69
%3 Tons Redl " 85 3998, 85
35 pra, le bar i 208,44
132 - ’ 046 16,10
gn spikes 3,
15323 Qedar Posts 30 65 6
3902 6" Cross Arms ‘ 9% 76 .44
768 24" Bruses - per ﬂ 40,00 30,72
12 Coils No,9 Wire * SO4% 83,70
7 Bbbhls Jnsdators 37,50 41,258
3000 Tocust Pins 10,80 21,50
754 Washers 034 2,43
5 x 8% Bolis 2,00 1.50
324 x 11® RBolis 228 T+29
200 : ot 1'18 358
o “ . £
20732 Cedar Ties 284 5886,40
7854 FHemleak ties « 23 1649 ,33
20 Sets Cattle guards 13,00 260,00
3 CGroassing Angle - 80°26! 120,00
1 L " - '?3' 125.00
s " v = 805 160,00
b 4 " » - L4040 145,00
2 " LI Y 215,00
5 Transit gwitches 2850 331,50
4 Tow Morden gtands 10.00 40 00
B -/g.. Rigid 1.5¢ Frogs 28,13 186,68
L No,B8 Clump ¥Frog 19,50
59 30! Telagraph Poles 1,00 §9,00
13’% 25; " : Jﬂ..m 1%,%
40 " 15 .
2 350 w " 1,50 31,50
2753 svwitch Ties 9 430 a0 .49
1116 Rods wire fencing 8,74 320,29
3 High Buda Swiiteh gtands 17,00 81,00
100 Boxes Tie Plugs " 50,00
Intarlocker Material -
4 Pipa planps ™ & « 68
85 Pipe Plugs 06 1450
80 Pipe Couplings 00 5.40
86 3/4% Washers L008 A2
85 5/8% W 005 13
250 3/m = L0025 63
158 3/8" Nuts 0075 1.18
30 3/40 n JOL78 B2
27 5/8* Hex, uts(47 with Hook Bolts).01.25 o2
182 3/4x4A% Lag Goreaws 04 «28
&85 . = 202 1,30
0O . » 014 3 §
86 3/4x9% Bolts,complote 09 6,94
80 3/&x17" Bolts " 13 7480
4 3/4x1am w " ad <40
20 5/&::123' " only 07 1,50
&8 3/8x8 3/4"Rolts only «0 1.70
6 " " " 20 » 33
2 way Plpe Carrier Poundations .77 1.54
20 3x4"x4Lt.O0ak Siakes P 5 1.50
S0 Rai 1 Clips with #5 Tink .72 23..60
2 Dﬂgd’el.lﬂng mall.only “3 <86
; B85.58 “EBRBE. 8

Annual Report_Mining_MS86100_2071_1902_3 of 4_367 tif



Ford, 65,55

Interloecker Material =contd.

$88282,33

5. b
Vi 4

669
/777
f56g7¢s

Y alerict
fad

: A

i

C

“4

392,45

20 Sides for prank woundations .50 10,00
10 Tops for " " 33 3,30
10 B@tbemsor » » 33 3.30
17 Braces for " b 13% 2,29
1 Crank Poundation,complete 2,18 2.18
1C S8ides for Wheel Foundations.31l$ 3.15
4 Tops for Wheel woundations .20 «80
4 Bot's for " ” «20 .80
¢ Braces for Wheel Foundations ,13% 1.21
53 8Sides for Pipe Carrier Foundations .17 2.01
25 Teps for l-way Pipe Carr.Found, ,08 2,00
6 Tops for 2-~way Pipe Carr.Found. .10 .60
$ Bot's, for 2~way " " " «10 50
4 Tops for 3~way Pipe Carr.Found., .llt 46
2 Dot'g.for 3-way Pipe Carr.Found, .1l 23
1 l~way Pipe Carr.Pdtns.complete .54 .54
7 S’Way " b " " 061 4027
3 4-way " " " " 64 1.92
3 4-way " " " "
4 Pipe puides 29 1.16
2 l-way Vert.Dranks,9x9" only 1.95 3.90
2 2-way Cranks,9x9 B 113/4 x 11 3/4" 2,50 5,00
2 l-way Crank,113/4 x 11 3/4 1.78 3.50
X VIw Grank, 10xllxll only 1.50 1.50
1 11 3/4x11 53/4 Crank only B & 15
1l ¥No.6 Switch & Tock Movement 10.00
1 Tock Rod 1.78 1,78
3 R.H.Feet for derails,B A-1060 R2.48 7o 44
1 Tie Plate,3/8x6"x9' long 2,38 2,38
8 4x2x6" Iron Plates .10 .80
3 Pipe ILugs l.00 3,00
2 Eye Rods « 55 1.10
3 Standard Jaws only .66 1.98
1 Wide Jaw only .80 .80
4 Serew Jaws only .76 3.04
8 ©Special Pipe Carriers 25 1,50
800 ¥%,1" Pipe .08 64,00
4 25' Detector Bars(2 R.H.
{2 1..H. 3,00 12,00
40 TFt.1x2}" Iron - 170 1bs. .03 5.10
2 4-way 8" Hor.Wheels only 1.68 3,36
3 # Vert,Wheels, l-way,only +80 2,40
3 i bt " 1-way,0nly .95 2085
47 5/8x6 5/8 Hook Bolts with Juts .06 2,82
2. 3/4" studs for Detector Bars 184 3.88
4 74" Springs for Detector Bars + 20 .80
83 Straps 03 2.49
138 8ides for Pipe Carrier % ¢ 15,18
67 Bottom Rollers .06 4.02
16 TOI) " .03 .48
18 4-way Wire Pulleys only o 3,42
1 Scoteh Block,comp.for 564 Rail - <
20 Wiroet Jaws,Pins & Cotters 75 15,00
2 #6 Switch & TLock Movements 10,00 20,00
2 R.H.Peet for Derail 2.48 4,96
2 L.H.,as above 2.48 4,96
2 Tock Rods for meérail 1.96 3.50
24 Det.Bar Clips with #7290 Links,comp.l.0625.44
6 Pcs.63" Red Glass «25 1.50
6 " 3% Blue - e § B0 .
24 7/8x 2 3/8" Pins & Cotters 09 2,28
2 l-way L.J.Compensators,comp, 5.4 10.90
3 SwihtcHwLarps 4,78
1 Pick :

Annual Report_Mining_MS86100_2071_1902_3 of 4_368.

—888689.65

tif



